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825,134

97,885

oA

=

12,684,300
11,001,622
42,990
398,418
1,151,270

11,174,582

1,509,718

H

12,631,200
11,091,622

11,121,482

1,509,718




A SXNEH
B HASSMEI
Sl Ha=g (St ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 42,990
=S 398,418
Al 1,008,170
22, NSty o Z29TadH2g8 (X 9,666, 146 9,381,188 284,958
Ared)
= 8,699,531
= 386,646
Al 579,969
201 fer= 3| 7,000 6,000 1,000
= 6,300
= 280
Al 420
01 AtR2telHl 7,000 6,000 1,000
OXEZZAIE = 2| 7,000
= 6,300
= 280
Al 420
202 04t 6,000 6,000 0
= 5,400
= 240
Al 360
01 2LHoIH 6,000 6,000 0
Ot el ge=d 6,000
= 5,400
[ 240
Al 360
301 LEtE NS 1,200,000 1,001,000 199,000
= 1,080,000
[ 48,000
Al 72,000
01 Al EEAGZ2(ZDEZME) 1,200,000 1,000,000 200,000
OAl 28 THEZ22 At 1,200,000
= 1,080,000
== 48,000
Al 72,000
307 elztol & 8,453,146 8,368, 188 84,958
= 7,607,831
s 338,126
Al 507,189
05 2IR”IRIE = 8,453,146 8,368,188 84,958
OXEZZAY BIII& 8,453,146
= 7,607,831
= 338,126

o
[




A SXNEH
B HASSMEI
Sl Ha=g (St ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 507, 189
KNS THHE SAHA S8E 39,240 37,080 2,160
== 1,772
Al 27,468
307 212+01& 39,240 37,080 2,160
< 1,772
Al 27,468
11 AMEISXAEEES 39,240 37,080 2,160
OXNSA2HE SAHL S8+ 39,240
= 1,772
Al 27,468
NED2, NANSUE o ZATEHMEHSS(NSTE 99,3% 845,998 83,338
HH29)
= 650,536
Al 278,800
307 212+01& 929,336 845,998 83,338
= 650,536
Al 278,800
10 Al SXAEEHE2EHI 22X 929,336 845,998 83,338
OXNS ey 24 929,336
= 650,536
Al 278,800
ZEsEAs== 42 ExsAE 1,935,064 798,690 1,136,374
= 1,741,555
Al 193,509
307 21201 & 1,935,064 798,690 1,136,374
= 1,741,555
Al 193,509
05 2ItRIE = 1,935,064 798,690 1,136,374
O I=sd 11,478
= 10,330
Al 1,148
ougri=sz 44,138
= 39,724
Al 4,414
O3ds|dI=5E 62,662
= 56,3%
Al 6,267
OFISPSE-V EY; 92,340
= 83,106
Al 9,234
O3S M=AHZH 123,370
= 111,033




AR INESESI
FH: HASSMBA
el =22 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,337
OFYE L M=HE (X 013 242,682
= 218,413
Al 24,269
OFAULNSAZH(R&H =) 1,358,394
= 1,222,554
Al 135,840
H222, NAT2SHE o ZARNSHEHSS (KA 61,414 58,526 2,888
zel2d)
[ 42,990
Al 18,424
307 212+01& 61,414 58,526 2,888
= 42,990
Al 18,424
10 Al2ISTIAIEEE 22X 61,414 58,526 2,888
OXtArd el 28 61,414
s 42,990
Al 18,424
HNASE A 28 53,100 53,100
MHEAHSUALBESE EXHA 50,400 50,400 0
301 EetE2 N = 50,400 50,400
02 AR 2HHLFS(HAAS, XNLHE) 50,400 0 50,400
ozz=2gzs NE 4,200,000~ 122 50,400
X2 2 G (KA 2,700 2,700 0
201 =3 2,700 2,700
02 S22l 2,700 2,700
OXtgd=s SA2el 228 FXI22H| 2,200
ONgll= M XM2dl, 28g S
5,000/ %1004 500
Heas(=SXEHY) 6,49, 102 6,261,271 234,831
LIS HHXIE 6,496,102 6,261,271 234,831
WA XIE 6,496,102 6,261,271 234,831
701 JIEtSI HSHES 6,496,102 6,261,271 234,831
01 et AN ES 6,49, 102 6,261,271 234,831
O2A=2380AM HES 6,49, 102
HH2LZH(SXFHD) 580,373 347,351 233,022
[ 332,188
= 30,615
Al 217,570
eIE =g 533,166 299,844 233,322
[ 332,188
= 30,615
Al 170,363




A SXNEH
Ho: HESAAY| (=X )
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEAtAIZ2IAL 1Al X2 (el 2Th]) 304,884 299,844 5,040
= 152,442
Al 152,442
101 @12A4H| 304,884 299,844 5,040
= 152,442
Al 182,442
03 SRA(RIH )22 U2+ 304,884 299,844 5,040
OSE At ZelAt 21 4HI(9H) 304,884
[ 162,442
Al 152,442
SIYAHBI0IN 29 9,600 0 9,600
= 4,800
Al 4,800
101 @124H| 9,600 0 9,600
= 4,800
Al 4,800
03 SRH(RINHA) 222+ 9,600 0 9,600
O8ZAMHIOIN 2 ¢ 9,600
[ 4,800
Al 4,800
Atdi2el FEM i (=SS H22IAL 218,682 0 218,682
[ 174,946
= 30,615
Al 13,121
101 21A4H| 218,682 0 218,682
[ 174,946
= 30,615
Al 13,121
03 SRH(RINHA) 222+ 218,682 0 218,682
O2z30&2IAHEE) 218,682
[ 174,946
= 30,615
Al 13,121
=3l 47,207 47,507 A300
Jl=23H| 47,207 47,507 2300
201 er23| 37,817 37,817 0
01 AtR2t2|HI 37,817 37,817 0
OSAEAl 7Y 3,564
OXZgly &Y - =8 wHI(Ye, &) 9,240
OJIEt AtR2t2IHI 25,013
203 HR=H] 9,390 9,690 A300
01 D[22 HRFa| 2,970 2,970 0
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